®

' } Ver M Y V.0 N1
| LET’S LEARN TOGETHER | 'rer'r CD S g i‘&\i\l.-‘-.l{\.j.l-} s 1 ﬁ

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDC-S-SND : Test Booklet Series

Serial No.

TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

.

10.

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In casc you feel that there is more than one correct response,
mark the response, which you consider the best. In any case, choose ONLY ONE response for
each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. _

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Bpoklet.

. Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Which one of the following gases is
released mostly from landfills in urban
areas?

(a) Nitrogen
(b) Hydrogen
(c) Methane
(d) Oxygen

Which one of the following is most
sensitive to environmental change?

(a) Amphibian
(b) Reptile

(c) Mammal
(d) Insect

Which one of the following is the largest
source of electricity in India?

(a) Hydropower plants
(b) Nuclear power plants
(¢) Thermal power plants

(d) Wind energy

The HIV virus weakens the immunity of a
person because it destroys

(a) mast cells
(b) platelets

(c) erythrocytes
(d) lymphocytes

Which one of the following air pollutants
combines with the haemoglobin of
human blood and reduces its oxygen-
carrying capacity, leading to suffocation
and may cause even death?

(@) Chlorofluorocarbon
(b) Fly ash

(c) Carbon monoxide
(d) Sulphur dioxide

SDC-S-SND/1A

6. An irregular mode of reproduction

resulting in the development of an
embryo without fertilization is called

1. Parthenogenesis
2. Apogamy
3. Sporophytic budding

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

fc) 2 and 3 only
(d) 1,2 and 3

7. Which one of the following is not an

allotrope of carbon?
(a) Coal

(b) Diamond

(c)  Graphite

(d) Graphene

8. In paper manufacturing, degumming of

the raw material is done using
(a) sulphuric acid

(b) bleaching powder

(c). caustic soda

(d) mitric acid

9. Dolomite powder is applied in some

agricultural lands. The purpose of
applying it is to

(a) increase the pH of the soil
(b) lower the pH of the soil

(c) increase the phosphorus content
of the soil

(d) increase the nitrogen content
of the soil
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10. Deficiency of fluoride leads to which one

of the following health problems?
{a) Tooth caries

{b) Mottling of tooth

{c) Bending of bones

(d) Stiffening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a toxic substance in
groundwater?

(a) Nitrogen
(b) Phosphate only
(c) Potassium only

(d) Phosphate and potassium

12. Which one of the following eclements

does not form @ solid Thydrogen
carbonate?

(a) Sodium
{b) Potassium
{c) Caesium

{d) Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of their total
size of population?

{a) Kerala, Jharkhand, Assam, Punjab
(b) Jharkhand, Kerala, Assam, Punjab
(c) Kerala, Jharkhand, Punjab, Assam

(d) Jharkhand, Kerala, Punjab, Assam

SDC-S-SND/1A

14. With reference to earthquakes, which of

the following statements are correct?

1. Earthquakes largely occur along
the converging plate boundaries.

2. Point of origin of earthquake in
lithosphere is known as focus/
hypocentre.

3. Intensity of earthquake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remains over continents only.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(Bl Zand 3
(c) 2 and 3 only
(d) 1 and 4

15. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal
population

2. /Mizoram : Highest percentage of
tribal population out of the total
population of the State

3. Chhattisgarh : Second Ilargest
tribal population after Madhya
Pradesh

4. Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizoram

Select the correct answer using the code
given below.

(@ 1 and 2 only
(b) 2 and 4 only
(¢ 1,2 and 3
(d) 2,3 and 4
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10. frafafas 4 @ F9-91 & wWRem 9l

FeiTEe 1 % HRT Bt 77
(@) Td 1 &R

(b) =@ F HL

(c) SRR &1 dh
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16. The spring constant of a spring depends

on its

(@) length only

(b) material only

(c) length and its diameter

(d) thickness, its diameter and its

material

17. In the gamma decay of a nucleus

(@)

(b)

(c)

(@)

the mass number of the nucleus
changes whereas its atomic
number does not change

the mass number of the nucleus
does not change whereas its atomic
number changes

both the mass number and the
atomic number of the nucleus
change

neither the mass number nor the
atomic number of the nucleus
changes

18. In a bipolar junction transistor

(@)

(b)

()

(d)

19. The

all the three regions (the emitter,
the base and the collector) have
equal concentrations of impurity

the emitter, has the least concen-
tration of impurity

the collector has the least/concen-
tration of impurity

the base has the least concen-
tration of impurity

pressure exerted by a 760 mm

column of mercury at O °C is known as

(@)
(b)
(c)
(d)

1 pascal
1 atmosphere
1 bar

1 poise

WIS - B =15 211 R T Y (S SR S ——

20. Which one of the following physical
quantities has the same dimensions as
that of Planck’s constant h?

(a) Linear momentum
(b) Angular momentum
(c) Force

(d) Potential energy

21. Which one of the following statements is
not correct?

{a) The response of the ear to
sound of increasing intensity is
approximately logarithmic.

(b). The sensitivity of the human ear
does not vary with the frequency of
the sound.

fc/ When two or more waves
traverse the same medium, the
displacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave.

{(d) Longitudinal waves can travel in all
media—solids, liquids and gases.

22. Which one of the following hormones is
essential for the uptake of glucose by
cells in the human body?

(a) GH
(b) TSH
(c) Insulin

(d) Cortisol
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16. forehl warll 1 FAE RRE R w R 20. FrAfafga fos ol 4 @ e o 6t g

Al 27 e Tradis h el % waE Bl &7
(a) HETT IR TG W ) XRemes
had 3% Terd
(b) e I o "
(c) IHEH TAEE A ISP AW T
() EH T, ek AW 3R 3w Ter W o W
(d) Teufas =i

17. ford il & T & W T A 27

(@) TYF T FAAHE-UEA dqadl @ Seleh

, 21, T=fdRad # @ -1 T w5 98 & 27
THeh! THTY]-3hHTeh &l sIqaeral ¢ |

(b) T hH FHAF-UE TE dGerd o (a)wﬁﬁagfﬁgézﬁamaauﬁ{uwaﬁ
STah FEeH JRHIY-5hH1eh Faa 8] m ST | o (etiRese)
1
(c) iR il FEWH-TEA SR GRHI-HHIS
I FEwd Bl _ (b). AE FH = Feeashiaa iy f amah
(d) 8 T il FEHEE-EE §Ee € SN % WY el Seed 2

Y TRATY ST SRl | (¢) & & A QY e T TE @ Aem

Fedl &, d 39 mead & R eaga w
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23. Which of the following cells do

not

contain nucleus?

14
25
3.
4.

Root hair cells
Red blood cells
Platelets

Monocytes

Select the correct answer using the code
given below,

(@)
(b)
(c)
()

1 only

2 and 3 only
1, 2 and 4
2,3 and 4

24. Biological catalysts are protein molecules
which

18
2.
3.
4,

speed up a chemical reaction
remain unchanged after reaction
function optimally at 37 °C

do not have an enzymatic activity

Select the correct answer using the code
given below.

(@)
(b)
()
()

1 only

1, ;2 and .3

2 and 3 only
1, 3 and 4

25. ‘Altitude sickness’ is caused at high
altitude due to

(@)
(b)
(c)
()

— SDC=S-SND/1A

high partial pressure of oxygen
low partial pressure of oxygen
low level of haemoglobin

high partial pressure of carbon
dioxide

26. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II

(Element) (Property/Use)

A. Mg 1. Gives red colour to flame

B. Ca 2. Sulphate compound used

in medicine to examine the
alimentary canal of a
patient

C. B 3. Traps the energy of sunlight

in photosynthesis

D. Ba 4. Control of muscle

contraction
Code :
(@) A B & D
2 4 1 3
(b) A B € D
2 1| 4 3
(c) A B C D
3 4 1 2
(d A B iy D
3 1 4 2

27. Which one of the following statements is
correct?

(@)

(b)

The oxidation number for hydrogen
is always zero.

The oxidation number for hydrogen
is always +1.

The oxidation number for hydrogen
is always -1

Hydrogen can have more than one
oxidation number.
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23, ffafaa # & B/ *imsl 7 e 7@ 26. G-I A G-I ¥ gafaa I R gt &

e 87 <A g T 2 T A A I g
1. Hd U I
2. T T B HEt-1 FEA-11
3. R (S (7=) (ToT /3wET)
4. UHhgey] (AHETEE) A. Mg 1. e 1 SeTell Il B
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(@) e 1 w0 H g
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24, Sfaeh 3, TEF 9 B §, S e L
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A fow e e B g A A IW IR S O °
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(b) 1,233 |
(c) Haw 2 3R 3 27. ffafad § ¥ ®H-91 T e 9 87
(d) 1,3 3R 4 (@) BRSNS & foru i i wed Y
e 2 |
25. im;:’mﬁ fers =g | B B BT FRO ) o % R o S ke 1
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(a) SATFESH 1 IH TS ;
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HEETE]
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28. In case of a standard hydrogen electrode

fa) absolute electrode potential is
not zero

(b) absolute electrode potential is zero

{c) both absolute and standard
electrode potential values are zero

(d) electrode potential is zero only at
25 °C

29. The elemental composition of an adult
human body by mass is

(a) C>0>H>N
(b) O>C>H>N
fcf N>C>H>0
({d N>C>0>H

30. With regard to water transportation in
India, which of the following statements
are correct?

1. Headquarters of Central Inland
Water Transport Corporation is
located at Delhi.

2. Headquarters of Inland Waterways
Authority of India is located at
Noida. :

3. National Inland Navigation
Institute is located at Kolkata.

4. First National Inland Waterway was
between Haldia and Allahabad.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3

(¢) 2 and 4 only
(d 1, 2 and 4

SDC-S-SND/1A

31. If the latitude and longitudinal extent
of an Indian State/UT is 15°48°00"' N
to' 14°53’15'' N and 74°20'13""E to
74°40°’33" E, then which one of the
following is that State/UT?

(@)
(b)
(c)
(d)

Puducherry
Chandigarh
Goa

Delhi

32. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Railway Zone) (Headquarters)
A. 'North Eastern Railway 1. Kolkata
B. East Central Railway 2. Bilaspur
C. South East Central 3. Hajipur
Railway
D. South Eastern 4. Gorakhpur
Railway
Code :
(a) A B & D
3 2 5 1
(b) A B C D
1 3 2 4
fc) A B Cc D
i) 2 3 q
(d)
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28. TH A TEISH T091S & AW 3§ 31. 3R R wRdm TsE/E wRE Ww W

JEw R e At feRR 15°48°007 N
() Tty sawgie fa v T 2 & A 14°53'15N 3R 74°20°13”E @

(b) Taty soagie fava = dan @ 74°40’33"' E %, @ f=fafea ¥ 9 98 =1/
%3 WA TS hH-|T 7Y
() Tatg 3R AF® IF TER F RS .
e % 99 ¥ B © @ T
(d) ToEE fava Fad 25 °C W I Bl 8 p” .
29. TF 9G%F WHE IR 1 Al HAISH 5HH (c) The
IER foFE TR B 27
(a). Tzt

(@@ C>0>H>N

(b} O>C>H>N

32. -1 &l Ge-11 § gafea Hfg R g &

¢/ N>C>heQ

= o T e 1 3Er W EE W g
(df N>C>0>H
-1 HE-1I
30. WA § wiet 9fteed % waY A Frafiied § @ (Y& woew) (Fearea)
-8 HUH GE 87 A. IR & 1. wIHE
1. ¥ JaesE Wa gREed R
Rl o ) ,B' tg:?-nwia 2. Tommag
2wl sy weER wRER & STl 3. TR
TEATer et H e 2 | D. afiqu-yei & 4. TRER
3. UEH i ArEETeT HeT shicrhldl
7 foora B R
4. WM THA Aqeyi™ Semm gfead TR @ A B C D
TATEEE o <1< ol ¥ 2 3 1
R fow T F2 1 FE W G IR ) ) A B C D
1 8 B 4
(a) FaA 1 3R 2
: ) A°A B C D
b) 233 1 7 & 4
(c) I 2 3R 4
@ A B C D
(@ 1,234 4 8 B i
SDC-S-SND/1A 11 [P.T.O.
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33. Which of the following statements
concerning atmosphere of the Earth are
correct?

1. In stratosphere, temperature
increases with altitude.

2: In mesosphere, temperature
decreases with altitude.

3. The lowest temperature of the
atmosphere is recorded in the
upper part of mesosphere.

4. Tropopause is an isothermal zone.

Select the correct answer using the code
given below.

(@)
(b)
(c)
(@)

34. Match List-I with List-II and select the
correct answer using the code given

1 and 2 only
1, 2 and 3 /only
3 and 4 only
1, 2, 3 and 4

below the Lists :

List-I List-IT
(Place) (Industry)
A. Bongaigaon 1. Paper
B. Koraput 2. Machine tools
C. Pinjore 3. Aircraft
D. Sirpur 4. Petrochemical
Code
(@) A B (& D
4 2 3 1
(b) A B ¢ D
4 3 2 1
(c) A B C D
1 2 3 4
(d A B C D
1 3 2 4

SDC-S-SND/1A

12

35. Which one of the following is not a
tributary of the river Ganga?

(@)
(b)
(c)
(d)

Son
Mahananda
Teesta

Sharada

36. Which one of the following pairs of lakes
is connected by Soo Canal?

(@)
(b)
(c)
(d)

Superior and Michigan
Superior and \Huron
Huron and Ontario

Huron and Erie

37. In total internal reflection, the light
travels from '

(@)

(b)

(c)

()

38. The

rarer to denser medium and it
occurs with no loss of intensity

denser to rarer medium and it
occurs with no loss of intensity

rarer to denser medium and it
occurs with loss of intensity

denser to rarer medium and it
occurs with loss of intensity

energy of a photon, whose

momentum is 10 MeV/c, where c is the
speed of light, is' given by

(@)
(b)
(c)
()

10 MeV
100 MeV
1 MeV

01 MeV
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33. Ul % agvew % way A fefafad 4 @
HH-Y HIH TE T

1.

4.

IaqHvSd B SES . 6 WY d9EE
aedl Bl

HEIAUS H S8 o |18 qI9HH S 2

AYIUEA H IdH AUHE HEISA
S 9T F gt R s B
&I (ZI9TE) T EHaTd & 8

= faw e 2 w1 wE W IR g

(@)
(b)
(c)
(@)

Fae 1 R 2
adl 1, 2 3R 3
Fad 3 3R 4
1, 2, 3 3R 4

34, -1 I G-I § gAfera hifsg 2 giot &

=1 fe e 2 1 W = HeE I IR
-1 HE-11
(¥erm) (3zT)
A. @ 1. S
B. e 2. W R
C. TR 3. 9REH
D. RRE 4. PRI (V2rhfHehe)
E
@ A B C D
k2. 8. .1
) A~ B C D
4 & 2. 1
€ A~ B C D
1 2 & 4
d A B C D
L .8 - 8-2
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35. f=afdfas & & FR-H & 7 H gEES

i 87
(@) €M
(b) HET
(c) Teem

(d) IRET

36. Tmfafad # ¥ ®H-w 3hal &1 Siel g T8 51

It 87

(a) GfufeR.siE fAfee
(b) G 3 g

(c) T 3R =i
(@) T M Td

87./ 901 STTiteh GEdA H TR

() focet @ W e A ST 3 R
< &fer & fomm wmw S @

(b) TR A forw megm § S ® oM e
6 &fa & fomn ww S @

(c) Tora | Hud miegw § Srar @ 3R e
o &fe % e T | @

(d), ToR ¥ foxe mem § S @ iR e
o & % w1 W e @

38. TF WM, T@eH €97 10 MeV/c ®, S@l ¢

YHTTl hl AT B, S Sl [HEh FE Uk
Bt 27

(a) 10 MeV
(b) 100 MeV
{c) 1 MeV
(d) 01 MeV

[B. T 6,
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39. Liquids and gases never show 42. Match List-I with List-II and select the
: : correct answer using the code given
al d netic proper

%, \Rany Propert below the Lists :

(b) paramagnetic property

. List-T List-II
c) ferromagnetic proper
(e = property (Ocean Current) (Country)
(d) electromagnetic property
A. Agulhas Current 1. Peru -
40. Light trav?ls in a sjcralght I1r'16 (rectilinear B. Hambslde Gt 9 ISorith Afrea
propagation of light). This statement
does hold if the medium of travel for C. Labrador Current 3. Argentina
light is
D. Falkland C t 4, d
(a) of variable refractive index e ChnEee
(b) made up of slabs of different
refractive indices Code :
{c) homogeneous and transparent @ A B c D
(d) inhomogeneous and transparent 3 4 1 2
41. Match List-I with List-II and select the (b) A B C D
correct answer using the code given 2 1 4 g
below the Lists : ‘
List-I List-IT ¢ A B C, D
(Strait) (Water Body) 3 ! 4 2
A. Strait of Hormuz 1. Java Sea
. (d A B g D
B. Strait of 2. Andaman Sea 2 5 1 3
Bab-el-Mandeb
C. Strait of Malacca 3. Red Sea
D, Strait of Sunda 4, Gulf of Persia 43. Which ‘one of the follomng ﬁshmg
Gada.s banks is located off the coast of the
United Kingdom?
(a) A B C D
* 2 3 1 (a) Great Fisher Bank
(b) A B c D
1 3 2 4 (b) Grand Banks
(c) A B Cc D
1 2 3 2 fc) Dogger Bank
(d A B c D
4 3 2 1 (d) Reed Bank
—SPE=S=SNPD/1A— et 14 - T —
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39. @1 3R TG H w+ft 42. g1 = g1 | gafaa il o) gt &
' (a) gﬁgmeﬁqgmﬁaag | oy 7T e 1 T W T IW A -
(b) ST O AL B B -1 Feft-I1
(c) rE-grahE T AE A E (WeTETTER B) - (=m)
(d) Teregd- gt 1 e B A. ST YT 1. ¥
: v . aftqur aThieR
40. el Hieht X@r § T 3 (TR R El Tt = i
) | 98 HOH GV R, AR W % fog C. WSS &R 3. i
TROT o1 HIETH D. Wihaig °T 4. HATE
() REdT ST
ETE

(b) Tafim rgedaTh! &t qEE] 61 S@l
(c) T S aresf 8 Bty §y D

4 2
(d) 3rawrft R ueaft &

() A° B 'C D
41, -1 9 -1 W GATEA A R gEE B B 3
= fow T Fe A1 FEE R Hal el GHC
s §c D
-1 11 G R 2
(SreTeHEweT) (STerTeTE)
A. TS STASHERH 1. SE1 |R @ A B C D
. g4 B 3
B. dE-Ud-Al<d SdeAeA 2. 3(eHM "I
C. HATH TASHEHA 3. O R
D. gl TASHERHA 4. HRE I Gl 43. fAfafea § § FH-01 & A& 9F 38
foRTen & a2 W o 27
ETR
() A B C D ;
5 b B & (@ e TR &%
() A B C D -
1 & 2 4 (b) T I
fc) A B c D "
1 2 3 4 (c) SR &
@ A B € D
4 3 2 -1 (@) =%
SDC-S-SND/1A 15 [P.T.O.
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44. Match List-I with List-II and select the 46. Which one of the following statements is
correct answer using the code given not correct?
below the Lists :

{a) Position of the Sun, Earth and

List-l List=II Moon in a straight line of 180°
Pater Flany) (State) angle is known as syzygy.
A. Satpura 1. Maharashtra
B. Dhuvaran 2. Uttarakhand () Sy?ygy Conjunction. causes solar
eclipse.
C. Tanakpur 3. Gujarat _
D. Dabhol 4. Madhya Pradesh (c) Syz.ygy opposton: Calscs) ler
eclipse.
Code : ,
(d) Syzygy conjunction occurs at the
(@ A B C D time of perihelion only.
4 3 2 1|
(b) A B C D
1 3 2 4 47. Which one of the following is not related
to wind erosion?
fc) A B C D
1 2 3 4 :
fa) Wind gap
(d A B C D
4 2 3 L {b) Zeugen
45. Which of the following statements ‘ {c) Dreikanter
regarding soil is/are correct?
1. Alluvial soils are rich in nitrogen d) Demoiselle
content.
2. Black soils are rich in iron and lime
but deficient in nitrogen. 48. Which one of the following is correct?
3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen (a) "Guindy National Park is known for
and potassium. tiger reserve,
Select the correct answer using the code
given below. i (b) Namdapha National Park is meant
for lion conservation.
(@) 1 and 2 only
(b) 3 only (c) Jaldapara is a biosphere reserve.
2 and 3 onl
(e} 'and 3 ooly (d Rann of Kutch is a Wild Ass
(d 1, 2 and 3 Sanctuary.
_SDC-5-SND/1A } 16 — T —

Join Telegram : https://t.me/defenceekaksha



L] L] ®

LET’S LEARN TOGETHER

44. -1 9 G- @ gRfoa Afvm ok g &

= 2y Y He w1 TER R HE IR A
-1 TE-11
(forega, ) ()
A. FagEl 1. WERTE
B. &R0 2. ITWETS
C. THFYE 3. T
D. ad 4, WG YRH
e
@ A B 4D
4 3421
) A BR 08
1 3 2 4
© A B R CHEND
1 2 B3 e
d A B C D
4 2 B3 B

45, a1 & "y # frafafed # | SH-91/9 H2H
w8 /a?
1. Ve Ja,ARaSH ¥ 99 ardl o |
0. e HE R = H w9g wd g
T e | € B §

3. W e @R R Yghufem @ aue
Bl § g e 3R gieREH ¥ €
Bt 21

9 fow e g2 W W wE W AT
(@) a1 3R 2

(b) HaA 3

(c) Fad 2 3N 3

(@ 1,23R3

SDC-S-SND/1A 17

46. Frefeftad § ¥ HH-91 Th HU4 G L 87

(@) T, 3ot iR ==z fit 180° #IU hl T

@if @ f R gR-feR g
(fo=hfst) vaamd 21

(b) FR-fgfa forg wivm w@-mEm @

HR B |

(c) F-Ff forg wiogem == =

HROT B

(@) BRi-fEf frg WeA Fad IR F
T el B

47. Frefaflag § @ F9-91 T 9g 9E d

Heifera i /7

(@) TE T

(b) IH

(c) SR

(d) TeraTSe (SHiesa)

48. TEfRad § § -1 T w8 27

(@) TUE ATHA Uk, TR 5 % fog S
ST 81

(b) TRE YA U, I F Tew H forg R
(c) Ve TF Sfaved e 2|

(d) F=3 T 1 Tk STl 4T IYIfIER B )

[P.T.O.
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49. Which one of the following statements

concerning the natural vegetation of
India is not correct?

fa) Sal is found in moist deciduous
forests.

(b) Casuarina is largely found along
the coastal region of Tamil Nadu.

{¢) Deodar is a coniferous species
of tree. .

(d) Shola forests are found mainly on
the upper reaches of Himalaya.

50. Which one of the following statements

concerning research centres in India is
not correct?

(a) Rajiv Gandhi Centre for
Biotechnology is located at Kolkata.

(b) Central Arid Zone Research
Institute is located at Jodhpur.

(c) Centre for Social Forestry and
Eco-Rehabilitation is located at
Allahabad.

(d) Institute of Forest Productivity is
located at Ranchi.

__SDC-S-SND/1A B

18 -

Directions :

The following three (3) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I '

fc) Statement I is true but Statement II
is false

(d) Statement I is false but Statement II
is true

51. Statement I :

The ' Pahi-kashta peasants were
non-resident cultivators cultivating
lands on a contractual basis.

Statement II :

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic distress.

52. Statement I :

The Zamindars were an exploitative
class in Mughal India.

Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century,
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49, frafifed woFl § ¥ HH-T1 T vRa H

TIHicieh I & Haig § 6l T8t o7
(@) WS 3ATE IaFS 94§ U7 ST g

(b) T rfermier: afeTg % e 8 %
WIY-H1Y IR S &

(c) <R, U sfd #1 T U 7

(d) e o qeda: fenre & St = 9
Sk

50. frfeifled ol 4 ¥ FN-W T UG- &

UM Hal % HaY § Hal el 67

(@ TShE e S dEnfeh (SmERes)
5, Prerehra #. R R

(b) FE T & IFHUH FEIH SR |
2 2

(c) THEIRER aifehl iR waferu-gHata &=
ERINCICR- AT n i

(d) o IeEehal GegH T R 7

SDC-S-SND/1A

&

Frefafad €= (3) weiwt # 9w B, w1 3R
9 1. 37 SH1 ST T AraTigEes gieor R R
= g 71w e 1 FE W EH W g

e

(@) THI FoH AT ¥ 8, IR w11,
FUH 1 1 He! TR 8

(b) BRI wF Af¥d: g &, fhg w1,
HYH 1 I Hel TIEH T 3

(c) U 1 T 8, g o 1 3 7

(d) WIW%,%amﬁm%

51. /Y11

“TEl-Ra fehE STard R 9, S 3%
(dfamT) & ER W sHiF Sad )

YA 11 ¢

‘gl R 4 ITET TSR Tl 6
e o A1 i gehe it faamar ® wm
fopan |

52. YA I1:
TIEHICH W # SHIER Th T =i o |
YA 11 ¢

Hoedl Tareel § I AR § HER! @ TR
w< wem T P wedt RFEE ReeE e
guefa i)

[P.T. O.
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53. Statement I :

King  Ashoka abolished capital
punishment and disbanded his army.

Statement II :

After Kalinga War, Ashoka was
remorseful and became a Buddhist.

54. Which one of the following does not
signify a battle tank?

(@) T-55
(b) T-155
€ T-72
(d) T-90

55. Which of the following Gods are also
known as Lokapalas or the Guardians of
the Universe?

(a) Yama, Indra, Varuna and Kubera
(b) Indra, Varuna, Skanda and Kubera
(c) Indra, Varuna, Yama and Brahma

{d) Yama, Shiva, Kubera and Indra

56. Which among the following Acts
were repealed | by Article 395 of the
Constitution of India?

1. The Government of India Act, 1935
2. The Indian Independence Act, 1947

3. The Abolition of Privy/ Council
Jurisdiction Act, 1949

4. The Government of India Act, 1919

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b) 1 and 3 only
() 1, 2 and 3 only
(@ 1,2, 3 and 4

DO . | per e

57. On 26th November, 1949, which of the
following provisions of the Constitution
of India came into effect?

1. Citizenship
2. Elections
3. Provisional Parliament

4. Fundamental Rights

Select the correct answer using the code
given below.

(¢ 2, 3 and 4
(b) 1, 2 and 3
(c) 1 and 3 only

(d) 1 and 2 only

58. Which of the following statements
regarding the Constituent Assembly of
India is/are correct?

1. The Assembly was elected
indirectly by the members of the
Provincial Legislative Assemblies.

2. The elections were held on the
basis of Universal Adult Franchise.

3. The scheme of election was laid
down by the Cabinet Delegation.

4. The distribution of seats was done
on the basis of the Mountbatten
Plan.

Select the correct answer using the code
given below.

(@) 1 only
(b) 1, 2 and 3
(c) 2 and 4

(d) 1 and 3 only
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wYA I :

U TS 3 Yegeve ki AW H e R
Tt T R o R T

FA 11 :

e g F UL W THEH SR W
& |

. frefaftag # @ S9-01 ©F gE °F w G
Taiian &7

(@) T-55
(b) T-155
(c) T-72
(d) T-90

55. T WA § ¥ TRl dehure 91 semve (foe)

¥ WETFH F wq H i T ST 87
(a) IH, T3, TEU 3R Feil
(b) 35, TV, Whe 3R FeR
(c) IR, 9%V, T AR &l
(d) =W, T, F9R IR R

56. Fefafas § ¥ fe =it 1 9/ &

wfoam % e 305 % BRI FRE foRAl
T o

1. ¥R R afefem, 1935

2.  WIdE Taan AfufEm, 1947

3. iy wcfra asfter @M sfafem,
1949

4, WRd gehR fufEm, 1919

R o T e 1 TN R w IR gAY
(@) FAA 1 3R 2

(b) = 1 3R 3

(c) Fad 1, 2 3R 3

(d 1,2, 334

SDC-S-SND/1A

21

57. 26 JEFR, 1949 W WRd % HEYH %
frafafed § & #9-8 JEyW @] e’

1.

2.
3.
4.

ATTRERAT
Tafm

I THg
oferen Aftr

T R T 2 FH T HR G IR AT

(@ 2,334

(b) 1, 2 3.3

(c) Fad 1 3R 3

(d) e 1 3R 2

58. Wd <h GfaEm g1 % SR ¥ Fr=afafea 5 @
HH-91/8 HH &l B /27

L

g faum gaietl % g g SAIs
T ¥ Y1 1 =94 Fm T ey

HEHIE SI%F HAMUsR & YR W
g e g 9|
<A <l Th o1 Faion S Sfemem
FRERIRIC I

W2l w1 arffeRtor AIEEsET ANHT % 3TUR
W fomar T e

IR fou e % 1 W = Ed IW gAY
(@ A 1

(b) 1,233

(c) 2 3R 4

(d) A 1 3R 3

[P.T.O.
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59. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@

Centre for Science and Environment
in a recent study found that a
number of commonly available
brands of prepackaged breads
tested positive for potassium
bromate and potassium iodate.

Food Safety and  Standards
Authority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

The Union Government banned the
use of potassium bromate as a food
additive on the basis of the above
recommendation.

Potassium bromate is a neurotoxin.

60. Which of the following voted for Brexit
in June 20167

(@)

(b)

(c)

(@)

~ SDC-S-SND/1A

England and Scotland

England and Wales

Scotland and Northern Ireland

Wales and Northern Ireland

22

61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(@)

(b)

(c)

(d)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The reusable launch vehicle
climbed to a‘height of 65 km before
automatically | steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liquid fuel.

62. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation.

The name BrahMos came from two
rivers, Brahmaputra of India and
Moskva of Russia.

Indian military scientists were
capable of integrating BrahMos
cruise missile with Sukhoi-30
MKI fighter.

Defence Research and
Development Organization is the
manufacturer of Sukhoi-30 MKI
fighter.
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59, ffafaa sl # ¥ FH-91 T 96l T8l 87

(@) T st gt & gm0 e @ & frg
T Uk ALAEA W A8 I T @ foh k-
d 3 (W) F AR | I FD
el I wiE  qfiem s IR qieRem
e % fore uifsifea amam |

(b) WA W e TE " e |
wierd @ Aiwehl il gEt § | Grefie
S 1 T <l HEgl T el o
EAll

(c) ST TEG h SR N FHrs WHR A
T ANE F w9 0 9RREE S *
cepinicARCEICERERIT

(d) TheRmm S T anees (i)
Ed

60. S 2016 # frfcfiad 5 ¥ fha-fra 1 Tl

(Brexit) % ot de Tma?

(a) TS IR Whieee

(b) TS IR I7H

(c) TEHiZers 3N I ATCTS

(d) I IR IW ATCS

SDC-S-SND/1A

61. 3E (ISRO) % GH:WNY 2iaRe a6 & aR A

Frefefaa # § HH-91 TF FUF g AE 27

(@) ST 2016 ¥, WA % ¥UH FHEES
afy a4 H ISRO A HEEAYH
Wi-a fora|

(b) TE aler dTed o1y W % ieferer &
gdw gad aie F | oied R
T )

(c) IR By, WEIfd ®9 9 99 TETEH
¥ Ul GIUEST 9 dted 65 km i
ST de dge T A1

(d) @TEd SRR §9 ¥ WA 38 9 Tehe
FRI ST G T A

62. f=ifcifiad § @ H-91 T %o 9 T 7

(@) FEH, HRG IR T = (FSEH) T
i © queafe o fiemse 2

(b) FEE M, < AfEl, wwa i FEg AR
®G ohl AIEHe o A TR @ TR R

(c) WG ¥ ATFE FEw %9 feEa w
FEz-30 TWo FHo 3B Jg&h & WY
THTEHIT U H | 9

(d) FEE-30 THo FHo Ao F&eh ol Tl
87 STgEEH R faem FmeA R

TR0,
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63. Which one of the following sources tells
us about women protesting against
the infidelity of their husbands or the
neglect of the wife and children by the
male head of the household?

(a) The Kitab-ul-Hind

(b) Documents belonging to the Village
Panchayats of Rajasthan, Gujarat
and Maharashtra

(c) Sculptures from Mandor

(d) The Ain-i-Akbari of Abul Fazl

64. The All India Census was
1. first attempted in 1872
2. regularly undertaken since 1881

3. always undertaken as a five-year
exercise

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 and 3 only

(¢ 1 and 2 only

(d) 1, 2 and 3

SDC~-S-SND/1A -

65. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I
(Historian)

Sumit Sarkar

Shahid Amin

Ranajit Guha

Bipan Chandra

Code :

(a)

(b)

(c)

@

w =

— >

A
1

(e e R

s o

0 0 NO

N O

List-IT
(Book)

The Rise and Growth
of Economic
Nationalism in India

A Rule of Property
for Bengal

The Swadeshi
Movement in Bengal,
1903-1908

Event, Metaphor,
Memory—Chauri
Chaura, 1922-1992

wg =oO =UJ

w o

66. What form of Shiva is most prominent
in the Brihadeshvara Temple built by

the

(@)
(b)
(c)
()

Harihara

Bhairava

Rudra

Tripurantaka

Chola dynasty?
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63. Frfafaa # ¥ #H-@ d, 79 wfodi H 65. G-I I G-I & gafera Hifm oM gl &

T g 91 I8y Tewandt % R = 9 fow T F2 w1 T FR wE I G
3l ueht it Ve & foeg Aftenedt & oy &
aR & =T 8¢ -{:L;ﬁ_l w_n
(sTaeman) (g==F)
(@) TFamE-3d-fe< A ghd @R 1. 7 Uss U8 MY %
ST AT 57 §fean
(b) TSR, ToRT 3R HERTg %1 it d=wd B. TR AMH 2 Qmmmf?m
Y Haftra wIas C. UNfaTg 3. 7 wevf qaHe 39 did,
1903-1908
- D. fum =g 40-gae, Herwi, geR—aRt
CRLL TR, 1922-1992
(d) SIS 6T ! STI5-T-3hail |
@ A B C D
Sha B )
()) A B C D
64. Rad S SHTUHEI < W ;
1. 1872 ¥ Ugdl SR =l ]
2. 1881 Tafi w9 & 1 S B y |
3. U=gdld -OTE & 9 H gHEn 6 S @
@ A B C D
g o 3
Y fow 7Y F2 1 TR R TE IR G
66. Wi Usaw g0 fffa gEem Wik A R w=
6 s A v w37
(b) Fad 2 3N 3 (@) TR
(b) F&
(c) Fa 1 R 2
(c) ¥
(d) 1,23M3 (@) Pgues
SDC-S-SND/1A 25 [P.T.O.
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67. The basic structure doctrine with regard

to the Constitution of India relates to
1. the power of judicial review

2. the judgment in Kesavananda
Bharati case (1973)

3. the constraints on Article 368 of
the Constitution of India

4. the judgment in  Golaknath
case (1967)

Select the correct answer using the code
given below. '

(@) 1, 2 and 3 only
(b) 1, 2, 3 and 4
Ye) 1 and 3 only

(d) 2 and 4 only

68. Which of the following fundamental

rights as enshrined in the Constitution
of India belong only to the citizens?

1. Article 19 (Protection of right to
freedom of speech)

2. Article 21 (Protection of life and
personal liberty)

3. Article 15 (Prohibition of discri-
mination)

4. Article 16 (Equality of opportunity)

Select the correct answer using the code
given below.

(@) 1, 2 and 3
(b) 2, 3 and 4
fc) 1, 3 and 4

({d) 1 and 4 only

__SDC-S-SND/1A il bt

26

69. A citizen of India will lose his or her

citizenship if he or she
1. renounces Indian citizenship

2. voluntarily acquires the citizenship
of another country

3. marries a citizen of another country

4, criticizes the Government

Select the correct answer using the code
given below.

(@ 1, 2 and'3

(b) 2, 3 and 4

fc) 1 and 2 only

(d) 1 and 4

70. Which one of the following statements

is not correct with respect to protection
of individuals being tried for offences?

{a) A confession can never be used as
evidence against the accused.

(b) The accused must have violated an
existing law.

(c) An accused cannot be tried and
punished for the same offence
again.

(d) The quantum of punishment must
be provided in law as it existed
on the date of commission of an
offence.
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67. WRA % GlEEH & oy F ey @ A

g ot
1. 1T gEwreh i ik
2. FIEFR YR A (1973) # folg

3. WRd % WAy % IA=] 368 W
SRS
4, e 7S (1967) B Frofa

9 fw MY FE w1 WA R EE I G
(@) Fae 1, 2 AR 3

(b) 1,2, 334

(c) e 1 T3

(d) Fad 2 3R 4

68. WRd & dlaud § ufasiug f=faRea 4 @

AT Afos  ARBR  had AR H

o 87

1. =% 19 (ITh WA & SAREHR 6
TRET)

0. Ig=s 21 (SieA iR et wdaar =
Hi&on)

3. 3geaq 15 (fawe %1 ufmy)

4, =R 16 (T8 ! g

R fow e e 1 TE W EE I g
(@ 1,233
(b) 2, 3 IR 4
€ 1,334
(d) Fad 1 AR 4

SDC-S-SND/1A
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69. WA F1 HIE ATMNGE G AFRebhdr @ <,

g 98 R
1. R TRl o1 qRean Sl @

2. W1 4 Trdl = dw Fi ariieeal 9w
EXGIR

3. et = 3w & i ¥ foams = §

4. YR I ATA=AT HET 8

9 fow T %2 1 T R Ed I ghu
(@ 1,2 3R 3
(b) 2, 3 3N 4
(c) HIA 1 3 2

(d) 1R 4

70. Agud] & fou fo=mo fre w1 w =kear #

gt & g9y H fEfafad 7 4 SR-|1 0
o e et 87

(@) Y- B AT & fowg e
& w9 4 w1 oft g @ T s oEehan)

(b) FfgE A TRl HSE wrE WA
IgeA TR 2

) 3 sy % far R @ Ibge @
foremor =€t foran ST Hepan IR g 7€ €
Sik:Exl

(d) G AET HEE A e € | AR

| WY W F e W owrE H
Toremm |11

[ B 1.0
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71. Neil O’Brien, who died recently, was a
famous

(a) journalist
(b) Dbilliards player
{c) dramatist

{d) quiz master

72. Consider the following statement :

“If you feel you are trapped-in a black
hole, don’t give up. There is a way out.”

Who among the following made the
above statement?

(a) Albert Einstein
(b) Stephen Hawking
(c) C. V. Raman
(d) Abdus Salam
73. Recently the Government of India ¢leared
the proposal for the production of

18 indigenous ‘Dhanush’ artillery guns
to be produced in India by

(a) Indian Army
(b) US Army
(c) Indian Ordnance Factory Board

(d) Indian and US Army jointly

___SDC-S-SND/1A e g .

74. Who among tfle following won the Men’s

Singles Title in the Australian Open
Tennis Tournament, 20167

(a) Jamie Murray

(p) Bruno Soares

(c) Novak Djokovic

(d) Andy Murray

75. Which of the following statements about

the philosopher Shankara is/are true?

1. Shankara espoused a form of
Vedanta called Advaita.

2. He elaborated on the philosophy
of Gaudapada.

3. Shankara tried to demonstrate that
the Upanishads and Brahmasutras
confain a unified, ~ systematic
philosophy.

4. Shankara founded the Amanaya
Mathas. '

Select the correct answer using the code
given below.

(¢} 1 and 2 only

(b) 1, 2 and 3

(c) 3 and 4

(d) 4 only
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71, F@ AT, TR A A AR TG B R, @ 74, AR AT 2w THE, 2016 F 79 ThH

RIS _ o1 faame g9 ¥ forad Sfiar 87
(@) TARR A i e
(b) Tafeas & faest 9
(b) TN ERE
(c) TEFHR
(d) TR W % (c) e SiehIferh
-
72. F=fdfad Fa w T=R FINT ¢ @ R
“gfe el o R M R =% e B B
T R, R A | S W 61 75. P & @ F-/A For THEE TR
Sl o il R Pt R en? IR
1. eRL 3 SEid B T Y, 8 3ga FEd §,
(a) e ATEEM , EaR:ebEREDI
b) T EiRE ' 2. TIeUE % ¥ H ITM A )
3. IR A g8 THIUG A 1 gAE T {6
(c) Ho o TH - gufwg MR sERE W wH affifod, sues
2 =l B |
(@) S7egH I 4, LA SHFY T3T LT )
73. T € § WG GWR 4 18 W@ oy’ aw AT o T e R R I g
el % I o T A H SAgAfa A 2
FTR1 30UTeA WA | foRreh g foha s ? (@) e 1 32
(@) SRR S
(b) 1,233
(b) Fo THo A
3R
(c) YRAE Y Haedt T G,
(d) SR 3R Fo THo VT FH HIH F9 A (d) Fad 4
SDC-S-SND/1A 29 [P.T.O.
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76. Which of the following statements about
the Deccan Riots of 1875 is/are true?

1. The Deccan Riots resulted in
protection for peasants through
the Deccan Agriculturalists Relief
Act of 1879.

2. The riots did not spread to the
whole of Maharashtra because of
prompt suppression by the British.

3. The British were unable to contain
the riots and they spread
throughout Maharashtra.

4. The cotton boom in the Deccan
that had been caused by the
artificial demand.generated by the
American Civil War caused the
impoverishment of the peasants.

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 3

(c) 2 and 4 only

(d 1, 2 and 4

77. Why are the Gypsies regarded as of
Indian origin?

1. They follow Indian religious
practices.

2. Their language,-called Romani, is
an Indo-Aryan language.

3. They believe that they came from
India.

4, Epigraphic evidence locates their
original home in Uttar Pradesh.

Select the correct answer using the code
given below.

(a) 1 and 4 only
(b) 2 only

fc) 1,2 and 4
(d) 2 and 3

78. The term Upari refers to which one of the
following?

(@)

(b)

(c)
(d)

A category of proprietary tenure
under the Mughal rule

A category of tenancy tenure under
the Maratha rule

A soldier in the Maratha army

A village headman in the Mughal
period

79. The ‘water frame’ of Richard Arkwright
was a device for

(@)
(b)
(c)

(@)

producing a new type of painting
irrigating fields for rice cultivation
producing strong threads of yarn

the faster movement of steamships

80. The ‘four great needs’ of the people as
identified by the Guomindang were

(@)

(b)

(c)

(@)

—SDC-S=SND1A—— — 30—

clothing, food, housing and
transportation

education, food, housihg and
health care

food, housing, education and
employment

employment, housing, education
and health care
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76. Frefafiad § ¥ S9-91/4 $2F 1875 & & &

4 % fowg # v B /87

1. <& % M 6 IRUMHEEY <@ FUE
Ted wifafrm, 1879 % Wemm | Fram
1 e et

2. 3Nl % ATHICTS S % HRO g1 [
TERTE B g el |

3. N @ wl U A eEEd ¥ IR
TR § 41 e MU

4, <@A H w9 A wew gfg, s oemien A
TegE, ¥ I HE =T % FRU FE of), A
Foramt = e e

= faw e e R W e IR R

(@) Had 1

() 13R3

(c) I 2 AR 4

(d 1,23m4

77. s (Fafl) =+ 9RdlE 9@ &1 w0 wEE

EinRS
1. 3 9RdW g fErsi =1 9eH ==3d gl

0. I W, \S UEE FEAT 8, T
TR -3 AR | _

3. 3% g Taumm § fF 9 v @ &
FUEI

4, QU iEd IR Hifw 8 I e
F worfig 1 £

= fw Tg Fe w1 TER W T W gAY
(@) HIA 1 3 4

(b) IS 2

c) 1, 23R4

(d) 233

SDC-S-SND/1A

78. ‘IUR’ 3o F=feRad # @ fre wh & @99 A

??

(@ T WEA F fE @it R Al
T Aol |

(b) BB WA & LA FHahi) RN
T Aol

(c) TSI BN H T &

(d) T el B-Te e <61 ghaan

79. =2 rhtEe 1 ‘a1 0 fFa w & foag w

fts o7

(c) T T4 ThR it et % foe

(b) = i Bl ¥ Qal B = F g
(c) ¥ o AT W S % T

(d) aTeq-=Tiea Wil w1 < i 3 % fea

80. TefiEm g Fuffm swar Kt =R sfa

sTaRgehard  off ?

(@) HIST, AT, T AR IREE
(b) Toen, @M, W AR @RS W
(c) @, R, e IR TR

(d) TR, =R, fren oK @

[P.T.O.
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81. Which one of the following was the earlier 85. Which one of the following is the highest
name of Tokyo? altitude zoo in the world?
(a) Osaka fa) Cheyenne Mountain Zoo
(b) Kyoto (b) Pandit G. B. Pant High Altitude Zoo

0 s _ (c) Himalayan Zoological Park, Gangtok
c amurai

(d) Padmaja Naidu Himalayan

(d) Edo Zoological Park
82. The epic, Silappadikaram refers to the 86. Which one of the following statements
about the Missile Technology Control
(a) story of Rama Regime. is not eorrect?

fa) The Missile Technology Control
Regime is an informal and

(c) culture of Sri Lankan Buddhists voluntary [partnership initially
formed among G-7 countries.

(b) Jaina elements in the storyline

d It of Shakti i ;
(F) =uee ¥ (b)  Members of the Missile Technology

Control Regime prevent the
proliferation  of missile and
unmanned aerial vehicle technology
capable of carrying above 500 kg
payload for more than 300 km.

83. Rakshasa type of marriage is
(a) marriage by purchase

(b) marriage byRCAPIEEE (¢ China applied to join the Regime

y : Y but members did not offer the
(c) marriage by giving dowry

membership.
(d) marriage by seduction (d) "No other country outside the
membership follows the Regime
rules.

84. Who among the following was defeated by
Chile to won the Copa America Football
Championship, 20167 87. The first Tejas squadron of Indian Air
Force consists of
fa) Colombia
(a) 20 aircrafts with 4 in reserve

(b) Argentina (b) 100 aircrafts with 10 in reserve

(c) Ecuador (c) 20 aircrafts with no reserve
(d) Peru : (d) 25 aircrafts with 5 in reserve
SDC-S-SND/1A —— 32 =i = T '
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g1. fr=fafled ¥ ¥ +H-w wHh, RN H GAT

W 17
(a) SETE
(b)
(c) WIS
(@) ®

82. HEThIA HeTHTashH Tohed Teitm 87

(a) T F Far

(b) FAEE H S T

(c) it % SG) Sl FEhid
(d) itk IITEAT Rl GSl-Ygfd

83. T&H YR I foam® ?

(a) GleH 3 T foeme
(b) =€ SR TR T foETe
(c) <&t T Torem T e
(d) e e T Tt femme

84, HI I Feaia AEFARM, 2016 Sfidt

o faeft grr Fferfaa § & fFa s mn?
(@) HAfeE

(b) SN

(c) TSR

(d =

SDC-S-SND/1A

85. f=faifigd # & -1 fag +1 3w @ﬁdl IS

ffearen &7

(@) IT94E Yeq fafsamr

(b) ufed Sfte Ffo da 3= g Tafeamn
(c) Teamem mfo 3am, e

(d) =TT g Tede™ wiftn T

86. F=fdflaa el & @ SH-w1 TH, FEEd

RNt freimor et & favg # w6 2 37

(@) Trama WEifRR fREw goreft o
i iR Bfess wned ¥, W
RY H G-7 33 & o= o) off )|

(b) TR WRNfER S Tonel % Hew
300 km ® &% % fU 500 kg @
FfEH -9 @ 9 A wem fienga
3R AME-ed agEE RN % TR
A1 § 39eY qH 1 Tk B

(€) =7 A 3@ Wt § mitd BN ¥ o
gideed fohar, Tig Tl 3 S¥ gew
e

(d). TR % FAAE HI§ I N YO H
Frat =51 arem 7€ = R

87. WRA™ AGEAT 1 UgeTl oote g (3d) fred

et &1 77

(@ 20 foH 3R Wy & 4 iz fomm

(b) 100 T 3K e A 10 o fmw
(c) 20 fomm K @y & w1 Ao fomm 78
(d) 25 oM IR @ § 5 Fed fomm

[P.T.O.
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88. The

headquarters of ‘Economic and

Social Commission for Asia and the
Pacific’ is located at

(@)
(b)
(c)
(d)

Singapore
Manila
Bangkok

Hong Kong

89. Which of the following with regard to the
term ‘bank run’ is correct?

(@)

(b)

(c)

(@)

The net balance of money a bank
has in its chest at the end of the
day’s business

The ratio of bank’s total deposits
and total liabilities

A panic situation when the deposit
holders start withdrawing - cash
from the banks

The period in which a bank creates
highest credit in the market

90. Which of the following will be the
outcome if an economy is under the
inflationary pressure?

1.

3.
4.

Domestic | currency heads for
depreciation.

Exports become less competitive
with imports getting costlier.

Cost of borrowing decreases.
Bondholders get benefitted.

Select the correct answer using the code
given below.

(@ 1 and 2

(b) 2 and 3

(¢) 1 and 3 only

(d) 1,3 and 4
—SPE-S-SND/1A
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91.

According to the  Classical Theory of

Employment, deviations from the state
of full employment are

(a) purely temporary in nature,

(b)
()

permanent in nature

imaginary situations

(d) normal situations

92. Capital deepening refers to

(@)

(b)

(c)
(d)

going for more fixed capital per
worker

emphasis on social overhead

capital
constant capital-output ratio

increasing capital-output ratio

93. Which one of the following statements is
not correct with respect to Article 32 of
the Constitution of India?

(@)

(b)

(@)

It provides remedies to citizens for
the enforcement of fundamental
rights.

It is a part of fundamental rights.

The Supreme Court cannot refuse a
writ petition under Article 32 on the
ground of delay.

Protection under Article 32 also
applies to the enforcement of
ordinary law which has nothing to
do with the fundamental rights.
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88. ‘THAINE Ug Wue FHwH W wREr T 3
ATt 1 GEATTd wal o =7
(@) Fmg
(b) wAT
(c) S

(d) R

89. ‘G% W W= & gy ¥ T=fafles § @ w9-w
e g7

(@ R & F =@y wuw e W R &%
H Tt & o 8 3 i

(b) el S & el SHI SR Pel AT hl
SERIR

(c) TF wiee h Fufq /@ S aWF sl o
T frereta Il & R <

(d) ¥ afy NEH S5 96 aem H 3=
Hige T o

90. IR TF T ThfdRR SaE & i ¢,
T Frfefad § & FH-8 R gh?

1. ©e] gRT T HEHedH |
2. EId HEM BN % WY g g it
il

3. YR o i AP e S|
4, i< T A= Bhl

I fiw e % 1 T W A9 W gHw)
(@ 132

(b) 23R 3

(c) FHaw 1 3R 3

(d 1,334

SDC-S-SND/1A 35

91. AR % Fearieeh fagia & AgER, IO USHTR

1 37aEen ¥ fo=er g y&R % 4 87
(@) TFid H f 9 @ s

(b) WEf H Torh

(c) TIeaeh AT

(d) T TR

92, Usf wefieR 1 3fRaa wa =7

(@) Wi HEIR SAeres Fa st g9 <
(b) EHEISER e Y W e &
(c).  TOR GSfi-3c918 *7gamd

(d) §@ & YST-3IR T

03, PEftes #97 4 2 Ww ™ W@

HgM % Tg=ad 32 % Hay ¥ ¥el 7E 77

(@) 7 AR ! Mt ATRRT & Jadd &
1T 39 e e B

(b) T HifeTh AR 1 T feE B

(c) ¥J=T 32 & TEd, < & MUK W
I AR el fe o @
AEHR T& L Fohal |

(d) SI=DL 32 < T eI, WHURYl FI
AT BN W f A Bt R, Fraen difers
ARG & IS HaY T B

[P.T. O.
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94, Which one of the following writs is issued
by the Supreme Court to secure the
freedom of a person upon unlawful

arrest?

(a) Habeas Corpus
(b) Mandamus

(c) Certiorari

(d) Quo Warranto

95. According to the provisions of the
Constitution of India, which one of the
following is not a_fundamental duty?

(@)
(b)
(c)
(d)

96. Under Article

To respect/the National Flag
To defend the country
To provide education to one’s child

To promote village and cottage
industries

352 of the Constitution

of India, an emergency can be declared
if security of| any part of India is
threatened by

1
2
3.
4.

war
external aggression
armed rebellion

internal disturbance

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

I, 2 and 3
2,3 and 4
1, 3 and 4

1 and 2 only

SDC-S-SND/1A
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97. Which one of the following statements
is not true of the Protection of Women
from Domestic Violence Act, 2005?

(@)

(b}

(c)

(d)

This Act provides civil remedies
to protect a woman subjected to
domestic violence.

Only women can make a complaint
under this legislation.

Relief may be sought only against
the husband or a male live-in
partner with whom the woman has
lived in a domestic relationship.

The Aect-includes not just wives
but alse. women in marriage-like
relationships.

98. Which one of the following statements
is not correct?

(@)

(b)

(c)

(d)

Creation of National Investment
and Infrastructure Fund (NIIF)
was announced in the Union
Budget, 2015-16.

NIIF is a fund for enhancing
infrastructure facility in the
country.

NIIF and NIF (National Investment
Fund) are the names of the same
organization.

NIIF can have more than one
alternative investment fund,

99. Which one of the following is not correct
in respect of Andaman and Nicobar

Command?

(a) 1t is the first integrated theatre
command in India.

(b) Its headquarters is at Port Blair.

(c) It is commanded by a three-star
_officer.

{(d) It was set up by the British during

the Second World War.
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94, frefafad § ¥ SH-w & emeyw, T =afe

H T-FHEA TG W T T TH W, I
Tl GHE A 6 I I = §]
S feran e 22

(@) & vTegefie (Bfeag widy)
(b) T ()

(c) emm (|fEamify)

(d) HARHR-g=e1 (1 aTer)

95. YRd % HAEW & YEgHl & Igar ffafaa

H W U1 T Hifieheheied el o7
(a) TBEAS 1 FEIH HLAl

(b) TE N WfRET FHET

(c) U sl bl RI& YSH ST
(d) T T PR FE Bl A <Al

96. WRAd & WEYM % (Je@a 352 % Awd,

ITITAHTS I SISO hl ST Gehdl &, Afe R
% forelt s <) gram ) e

1. I5¥
2. Tacsfi smsemor 9
3. UEE Ed 9

4. AN IUz

R few T %z @ wEE R wE I gy
(@ 1,233

(b) 2, 3 3 4

) 1, 33 4

(d) Faa 1 3R 2

SDC-S-SND/1A
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97. TfaRad FuAi § § HA- TH, W fGo @

Afgen e ¥fEm, 2005 % fowa § ¥

T 77

(@) & Afufan wiq fea =1 R g8 Feedt
Higen 1 G Yo F * fog denfe
3IUE} 1 YEY Al B

(b) T H & Idld bael Afeard € wE
T 2 o= Hepelt B

(c) wa@ Ufd Al W1 w® W®W YEW @efi,
s we Afgen & giienis w9y @ €,
% To%g & e | ST wehdl B

(@ e SAfufm Faa ufed B @ A
AT @l 8, Siowh (oaTR-o8 Geul §
@ dTett Afgee sft gaeh Faid ot B

98. Fr=feifad el # 9 S 19-w1 w6 7 27

(@) WA faw w@ enuie wEM @
(NIIF) & ¥sH I =Swon gy som,
2015-16 # & 7E)

(b) NIIF Tk UHT &Y 7, ST <97 § e
T glaenati % s % fog B

(c) NIIF 3R NIF (TE fow ) & @
W3 & 9 B |

(@ NIF 7 t% ¥ it Sfcys faw <
B T &

09, fiHfaflgs & @ -4 wh, 7egaF R FeER

FUM o GeY A TE TE 87
(@) T A 6 Tgelt ThIFa FHE FIH B |
(b) FHH GEATEH I sl | 7|

(c) T8 U dH-faam oteiha Afved gm
frfam g 71

(d) FEht T SN ER fid faw gg %
AR 1 7T oft|

(BT, O,
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100. Who is the Chairman of the Chiefs of
Staff Committee?

(@) The Chief of Army Staff
(b) The Chief of Naval Staff
(c) The Chief of Air Staff
(d) The member who has been the
longest on the Committee
101. Jammu and Kashmir Rifles is

(a) an infantry regiment of the Indian
Army

(b) a battalion of the Rashtriya Rifles

(c) the name of the Armed Police of the
State of Jammu and Kashmir

(d) a paramilitary force under the
Ministry of Home Affairs

102. Which one of the following is correct?

(a) Infantry Regiment is also known as
the Mechanized Infantry Regiment.

{b) Corps of Electrical and Mechanical
Engineers is subsumed in the
Corps of Engineers.

(c) Army Medical Corps and Army
Dental Corps are two divisions of
the Army Service Corps.

(d) Army has its own Corps of Air
Defence.

SDC-S-SND/1A e s

103. Which one of the following is not one of
the Commands of the Indian Army?

(a) South Western Command

(b)

(c)

North Eastern Command

Central Command

(d) Army Training Command (ARTRAC)

104. Which one of the, following statements
is correct?

(@)

(b)

(c)

(d)

The rank of Second Lieutenant has
been abolished. ‘

The Chief of Army Staff carries the
rank of Field Marshal.

All officers posted to Andaman and
Nicobar Islands wear the ranks of
the Indian Navy.

The rank of Major General is higher
than the rank of Lieutenant
General.

105. Which one of the following is not an
Air Defence Missile system?

(@)

(b)

(c)

(d)

Akash

Trishul

Tatra

Astra
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100. R Wl % Tg@] %1 AT HH 87

(@) FTEAT W% 1 TIE@
(b) T W6 1 TG

(c) TTEE W% FH T5E

(d) 98 Uew, s gfufa % ueq o1ftes gHw
T @

101. 57 3R YR UShey T 87

() VT BT <6l Teh Ugel 9T ANTHe
(b) TER TgHH i Toh Alfeel (Sreifer)

(c) ¥ 3R FER T % T gfera
am

(d) TR TATeE % e Teh WA el

102. F=fafad 3§ @ -9 s g8 27

(@) Ye@ B e w1 =it Yea o e
F 4M A of) ST S R

(b) agd iR Fifrr efimaredt & wR #
e SR § wfdfaq e mn )

(c) ¥ e #=R R ¥ < ¥R, &=
{1 R % < fediem B

(d) T 1 319 el 9y gRe R R

SDC-S-SND/ 1A

103. fTr=fafad @ @ S9-ur & wrdE 841 & SaE

A { T FAF A 37
(a) Teqo-ufsedt sam
(b) FR-TT FH
(c) 5 FAH

(d) ¥ URIE FHH (ARTRAC)

104, fFAfdiag § ¥ FH-H1 U HeF 98 87

(a) Uhe wffede & 9 1 guW = fean
T} L oE

(b) ¥ @ w1 wgE, B aEiw A A
EalnIR

(c) ST SR Feer fweg W T
st IR s e A ved) R
B B

(d) TSR S I 98, Affede SR & 98§
IHAWR B T

105. Tfcifigd o § wF- U, 9r] gfoten e

JUTTell A 87
(@) 3

(b) T
(c) T

(d) 3=

[P.T. O.
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106. Which one of the following statements is 110. The members of NAFTA are,
correct with respect to the composition (@) USA, Canada and Mexico
of national income in India? () USA, Canada and India
(a) The share of manufacturing sector () USA, Canada and Japan

has declined. (d) USA, UK and India

(b) The share of services sector has

: 111. Which of the following are constitutional
increased sharply. -

provisions and laws for the protection

(c) The share of agriculture has of the rights of the Scheduled Castes
remained static. in India?
1. Articl ituti f
(d) The share of services sector has rtl.ce LE el the " Sonishimizon. ©
: India
declined. y e )
2. The Protection of Civil Rights
Act; 1955
107. In India, the term ‘hot:money’is used to 3. The Scheduled Castes and the
refer to Scheduled Tribes (Prevention of

Atrocities) Act, 1989

Select the correct answer using the code
given below.

fa) Currency + Reserves with the RBI
(b) Net GDR

(c) Net Foreign Direct Investment fa) 1 and 3 only
(b) 1 and 2 only
© 1,2 and 3

{d) 2 and 3 only

(d) Foreign Portfolio Investment

108. Which of the following is/are credit rating

agency/agencies S INTHEE 112. Which one of the following is not true

(a) CRISIL about the powers of the Supreme
Court?

B) CHBR (@) The Supreme Court has original

(c) ICRA and exclusive jurisdiction in inter-

governmental disputes.

(@) At B He akoye (b) The Supreme Court has advisory

jurisdiction on a question of law or

109. Who among the following is the fact which may be referred to it by
Chairman of the Fourteenth Finance the President of India.
Commission? (c) The Supreme Court has the power
(a) C. Rangarajan to review its own judgment or

order.
(b) Vijay Kelkar (d) The Supreme Court has the
(¢) Y. V. Reddy ‘ exclusive power to issue \.vnts to
protect the fundamental rights of
(d) Rakesh Mohan the people.
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106. ¥RA § UEH 9 & gued & gy § Ffafag

H ¥ FH-T1 T FU T 77

() Frtor e 3 siw F e g8 2
(b) T &F F W H A IE T ¢
I(c} H 1 3T R o1 o7 B
(d) Fa1 &= % 7% § wH @ R

107. YR H ‘IoEmdl 54 (e ) wea foruss da

H weh form e 27
(@) T + TR0 e SAgo § fdra ffy
(b) & Sito Elo HARo

110. THo To Tho dlo To o T &

(@) o THo To, FTel 3R AfReh
(b) Fo THo To, FATST 3TN A

(c) Yo THo To, FATST AR SUH
(d) Yo THo To, Fo o 3R WA

111. ¥R # Aggfaa st & IRl ft wen &

fog frfafea 4 @ *F-8 Qufs y=um
3R FrE §7

1. NG ®.GREYH % =8 17

2. TRER YRR gran fytEm, 1955

3. 3IggfEa sfaal oiR stggfa Swefoat
(TR FHemon) srfafem, 1989

(c) Y fossht vy fam 9 foT 7Y e w1 W W wd W g
(d) fht ddwifer fam (a) Fa 1 3R 3
_ (b) e 1 3R 2
108. WA H shfee Treior wsiH/wsiftmi fFrefaiea 3 © 1,233
Y - /37 &) e ool
(a) CRISIL
B (G 112. Tﬂ@ﬁﬂ;mﬁm
fc} ICRA (@), SawteshE faE § sem = ™
(@) o T 3R 3T SRR T B

(b) S AT FFE & Y yal T
T R, S 9RA % Tpfd gR g fifde
e T B, TeTERR SAfremTRE W@ § |

109. T ¥ %1 Hggd T o & wieay 87

(@) M G R R R a——
(c) aTo o W& (d) SA@ % TE AR f wn F
A I wA hl I we I=En
(d) TH TEA T % T 2|
SDC-S-SND/1A 41 [P.T. O.
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113. The Sixth Schedule of the Constitution of
India pertains to the administration of
tribal areas in which of the following
States?

(a) Assam, Meghalaya, Tripura and
Mizoram

(b) Meghalaya, Tripura, Manipur and
Mizoram

{c) Assam, Manipur, Meghalaya and
Tripura

{d) Manipur, Meghalaya, Tripura and
Arunachal Pradesh

114. Which one of the following statements
with regard to the Ninth Schedule of
the Constitution of India is not correct?

(a) It was inserted by the Constitution
(First Amendment) Act, 1951.

{b) The Acts and\Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a.
fundamental right in Part III of the
Constitution. :

(¢) The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

({d) The appropriate Legislature can
repeal or amend an Act specified in
the Ninth Schedule.

— SDC-S-SND/1A

115. Consider the following statements about
Harappan cities :

1

Roads were not always absolutely
straight and did not always cross
one another at right angles.

A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements given above
is/are correct? '

(a)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

116. Match. List-I with List-II and select the
correct answer using the code given
below the Lists :

EfC B =

List-I List-II
(Term) (Meaning)
Kurinchi 1. Pastoral region

Palai 2. Seashore
Neytal 3. Arid region

Mullai 4., Mountainous region
Code :
(@ A B C D
1 2 3 4
(b) A B C D
1 3 2 4
(c) A B C D
4 3 2 1
(d A B C D
4 2 3 1
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113. ¥Rd & dfaud 6l o s Frefafea § 8
5 TSl B ST & % uIed | ey
@t 27

() ¥Em, Ferer, fgu v s
(b) FETEE, By, AR I st

(c) W:W$Waﬂ?ﬁg{-{

(d) AT, HeneE, YU IR TEvTee You

114. XA % WA 6l A6 SgEE % gad o
frfafiaa # | $19-91 T HH 9 4 27

(@ W HEUE (Jom HEEE) e,
1951 % Wiegy © Gftferd fom mm an)

(b) T S A ARkE % AfutEm @
fof 3w sraR R = B s R
I AEEE & 9P I % TRdl T
ER F1 IFI HLT B

(c) =nar w1 % Regid W A etggEl A
e et rfafem % =i gteon
i wifth =AW =RTeE % UH R

(@) & ageEh § faffde e afufem =
IgE faurmed e o1 d@vifta R
ol B

SDC-5-SND/1A
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115. B89 & WU & "uy ¥ fafafga saE =
ﬁﬂ'l’(ﬁﬁ'll:

L.

ek T Gl e ¥ el T A off
3R TH-gE Bl FAA WHHO WAL
el ofi |

2. UH JHER fawwar 98 2 fF o 3
el i ARl R €2 @ NEd ATHR
THEHHE B |

I FoA A A/ T A

(@) Ha 1

(b) HIA 2

c) 1 &R 2 aF

(d Tq1IRTEH 2

116, g=il-1 ! Geh-11 § gifaa it ik gimt

=1 faT 71T e 1 =T W HE I T
-1 11
(¥133) (31ef)

A. 3 1. =R &

B. T3 2. WHEA

C. =ard 3. b &

D. g8 4. g &

%e ¢

(a) A B C D
. B+« 8@ .4

() A~ B C D
1 B8 2 4

0 A B C D
4 3 2 1

(d A B C D
4 2 3 1

[BT. O,
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117. Which of the following statements with
regard to the conduct of elections in
India is/are not correct?

i

The responsibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

The Model Code of Conduct comes
into existence as soon as the date
of the election is announced.

The laws relating to delimitation of
constituencies are made by the
Election Commission of India.

No election shall  be . called in
question except by an election
petition.

Select the correct answer using the code
given below.

(@)
(b)
(c)
()

3 only
1, 2 and 4
1, 2 and 3

4 only

118. Which one of the following statements
with regard to the National Commission
for Scheduled Tribes is not correct?

(@)

(b)

(c)

(d)

The Union and every _State
Government shall consult the
Commission on all major policy
matters affecting Scheduled Tribes.

All the reports of the Commission
and its recommendations shall be
laid only before Lok Sabha.

The Commission, while investiga-
ting any matter, has all the powers
of a Civil Court.

The Commission has the power to
regulate its own procedures.

“SDC-S-SND/1A
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119. The

right to form associations and

unions is a right

(@)

(b)

(@)

guaranteed to everybody

to freedom guaranteed to citizens
only

to equality before law

to life and personal liberty

120. Some Indian territory was transferred in
2015 to Bangladesh by following which
procedure?

(@)

(b)

(c)

(@)

By an agreement between the
Government of India and the
Government of Bangladesh

By a legislation passed by the
Parliament amending Schedule 1 to
the Constitution of India

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen State
Legislatures
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117. ¥Rd A FeEieAl & guen & g9y # frafafaa

FoET § § BH-91/3 wh T8 227

1. WdeTdl gieEl h TR FA H IWE
wrd % Fratem e § fifsd 7

2. e TR gfear, g H fafy @
ST BN % W1 g e § o Sl B |

3. fefm &t % dm-fafon 8 wef@
FT ARG % TaleH A™EE gR S
EIGES

4. hael YAE AIEEl F A H BIEH
et frafem w weA e Zern 5w

e fag T e 1 SRR e W g

(@) FaA 3

(b) 1,2 3R 4

c) 1,2 3N 3

(d) Fad 4

118. T=fafad wemt # ® ®H-81 U6 TEH SgHRG

SIS AT % oo 3 Fel TE 8o

(@) g SOl Sl FHIied S d
wft v fifrd T ® A 0d g3
TS LR IR | w9yl it |

(b) Em st foad iR Eudhl R
Fad i 9 F FHE @ S|

(c) Tt 7me 6 JE-TsdE WA 9
fafom #1° & 9t wRkpal AW & 9™
B B

(@) sroft st wfsenent = fafafia @ &
wifts TR % T B R

SDC-S-SND/1A

119. TEW 3R €Y 91 & ARGR HH THR H

e 27

(a) T ARG & AT TR fER

(b) FaA AR ® foaw TRRE @@ @
TR

(c) T THE FHHAT FH AR

(d) Siie AR efde Tl 1 AR

120. 99 2015 H $S YRAT M SIS

wAiG T T on) qR TR wihm
SATHT shieh fear 17

fa) URG TR R TARY TWER F o9
TH TG BRI

(b) WRG & WiawE 6 FFEt 1 F HWEA
T g FEE B ITRA W& Taum g

(c) HEE H FEEAEH ARE F T A
T OYRG & WU B oSgEE 1 %
LHIBE A

(d) |ES ! FEEAHER WH F T FA §Y
A % "EUE Sl AgEE 1 % g
T HieE T fRumHeal & sgame
LY
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W % S9! g GO gREeR Wied &1 7 gl WY a9 @6 7 @i

21t #f. : SDC-S-SND Tfteor giereRT STgshA
THH T '
021189? qﬁm g%a,ﬂ A
HTHT A
w7 e quTie : 100
AFG W

1. e I B % g 918, o119 3| T{eror it it Ugare 1Eva ot o b 3Ed wig, e v, wer W gz
T30 B el i afs 7 21 Al Er ¥, a5 wEl wiamn gRees § o9eEe o

2. FUET A @ T OMR -9 #, SRE 0 W, T T=) JR wemw gie= sgen A, B, C a1 D =,
WA ¥ T R R e R % o i fewg v Redardl seftger i 2 B oft TR
e /a6 feafy # sm-waes e @ fée smem)

3. 3 wlew g W @Y # U M HEF H AOH TN HAFEH
T 21 whem gierm | @R o 7 fad |

4, 39 vhe e § 120 wiw (999) Re 7o #) v gew R of eiisft <R # o ) weE T 3§ SR T
(Iw) fou g ¥ T A UH TR B g o, DA A IR-TAh W ARG FE =E 81 Al o e ot 7R oww @
31t Tege el €, A 36 HegT I SAfeha ht S ATTh! TG T | He FIART o g Haet Th & Fogu g g |

5. a9 9 Wit Tege e ¥ R T Sw-we WO# iR o ) sw-mEw W Ry T e dE)

6. Tt wwAEl o i TEE R

7. T TER T g whe §ie & A SR 6 ST S-TE W AR HE I i, SR T FH-0 6 Wl
A el ¥ ogEr Fo foem IW-TEE A S 8l

8. I S Tt Vgl A SO H Y % e Y W & FEI W e IW-UAh Aefiad W A 3| e A
Y e gk & SR R SIE B

9. %= %W % foru v wewr gfemm & o | g €

10, 7o I o g gue
aegfE gw-wEt # sofear g i T wew swow ferg gue R wmom)

(i) worF T ¥ T = e S 8| Iefiear 3y e % T g e s e 3w % fore we vy e e
T 37 1 Ueh-Toerd °ve % 9§ @ S|

(i) R #§ nfrear ©F @ wfeE I A R, W@ To I FA e, FUf R g ewd A § ok SW g g,
R +ft 38 w1 % T SwggEn @ 3 @' @ gve e S|

(i) =R Irfiear R WA e R S ¥, sl SefieEn g I A fen o R, @ 3w e ¥ foe w9 qve
e feanr smem|

Wa q% o Ug ghgur YRR @iem w7 wEl WY a9 a6 7 @

Note : English version of the instructions is printed on the front cover of this Booklet.
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